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oJl=2 76,9603 x2H %108 16,624
ORzsdsY 76,9602 x2H 542 8,312
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OSHED| olg 49 M&
50,0002 x4+ 12& 2,400
OMETHDIIES £=HHE CHHAEIHA HIE
100& %10, 00004 1,000
O=2Y8EI| 2K HUHEX M2
20,0002 15001 3,000
onre 25 220 Z2XE 1,800
-&2t 300&x3,0002Z ¢l 900
-&A 3,000 *3007H 00
O=HIEERA AX| 5,000,000& * 10 2~ 5,000
202 04| 1,000 1,000
01 2ol 1,000 1,000
S0 A 1,000 1,000
O&2 | 1,000,000& 1,000
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. FOIXEo| 8&0lg &
o MDD SSEM 3 (Gt &
S - BB BR(31) - NSAY - BES S SR b=
OFZEs §agr 72¢ 7,350
-gto g &2 3003 *10Z d[*50H  12& 1,800
-01=28 &
5503 5Z df|*50H 123 1,650
- 3,000 x50 H +50H 750
-G 2Re S 3,000 *50% *5I4 750
WS 5,000 x50 *5I4 1,250
-] 3,000 *50% *5I4 750
&= Ut WXl 10,0002 *40H 400
O1l=h| 900
OFLXE 2N 900
-&gs 70,0003 *5H 350
-9 60,000 x5H 300
—OtX 3t 50,0003 *5H 250
oYxt=z 12,894
O=Es®M URE= 6,000,000& 6,000
OFLHYXIZ A HD|
40,000 #4CH+12& 1,920
OFAMYRE A 2S2H olYI|D|
80,000 #4CH+12& 3,840
OFAFYX S| A SHEA IO LR
18,900& *5CH* 122 1,134
02 3323l 327,657 267,696 59,961
S0j &t 327,657 267,696 59,961
02322 % HA 16,726
OXS A (12TH) 810
-tHess 400,000 = 1CH 400
-S83= 50,0003 =4CH 200
-2 8ot= 30,000& *7CH 210
OtZIE R 2(5L) 1,420
-tHEs= 250,000 =2CH*23] 1,000
-4 8s= 70,0002 *3CH*23] 420
OFLNYXZA MRS
220,000& x4H A * 12 10,560
OEANYXZ A =22
82,0002 x4IH A% 12& 3,936
odZH| 1,920
OFEANYXIF| A LHEE HAZH|
160,000 x4 A~ +3& 1,920
OAl&EHISXIB] 6,900
OFALMYXF A (MNL) FAB
375,000 *4 4 A *43) 6,000
OBSEY 2R Tz )3 X2
900,000& 900
OXtgF - Hety| 302,111
O™ HAX A2 EH| 35,700
-AOIEEe] 4 130,000 *4H*6CH*103] 31,200




S KREE
M F0IxE9 &ZF0Is 78
o MDD SSEM 3 (Gt &
M- B2 - 22(31) - HSAY - BaS S SR b=
S84 250,000& * 16 CH*33] 4,500
Ox&sF0(280H) 181,911
~ChE 8 (20000001 &)
1,822 %1502 | E4* 1CH* 12 3,280
-tHgst= 11,8223 %3502 | E4+9CH * 122 68,872
-S83= 1,822 x2902| E{ x4 CH 122 25,363
-4 3= 11,8223 %2202 | E4+8CH* 122 38,481
~CEHAEAXL 1,822 *3502| E{ *6CH* 122 45,915
OX&EHIRXH & Xt2ADEH](2801) 84,500
~-CH& S&(2000cc0l4) 500,000 *1CH 500
-tHgs= 3,000,000 *9CH 27,000
-=83= 3,000,000 *4CH 12,000
-4 8= 3,000,000 +8CH 24,000
“CHEAX 3,500,000 *6CH 21,000
202 04| 1,000 1,000
01 =LHO4b] 1,000 1,000
S0 &t 1,000 1,000
OSABSRE MK ASH o1& 0fH]
500,000& x2H 1,000
207 HAFIHEH| 22,000 22,000
01 H2E29Y| 22,000 22,000
20 & 22,000 22,000
QMEHIIZ, MEE, SASMYD| =
28 JIOHHE 29 22,000,000 22,000
307 QIZ2t0| ™ 16,100 12,950 3,150
05 QI2teEr2 16,100 12,950 3,150
=0 A 16,100 12,950 3,150
OO0F2t S2AMMl Xel fIE 24
70,000& *x230AH 16,100
405 KH&HESHI 300,000 300,000
01 AL =SEFSHI 300,000 300,000
S0 &t 300,000 300,000
oY Had FAXE 1
150,000, 000& *2CH 300,000
SEH 72 ST 22| 850,783 773,378 77,405
201 Et2AH| 1,900 1,900
02 S32g94| 1,900 1,900
20 & 1,900 1,900
OAI&E&EHIsXIH] 1,900
OZHN=TE 257 daZz0dl I &
|2 Xl 2= 950,000& *23] 1,900
206 M ZH| 540,933 481,283 59,650
01 M=l 540,933 481,283 59,650
S0 & 540,933 481,283 59,650
oM EHN=E M 156,000
0504 15024 %440, 0000H 66,000
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Hu: 0Bl S0/
o MDD SSEM 3 (e &=
SA - EH - CR(B) - NRAY - BaS S SR RS2
O7514 200 %450, 00004 90,000
OMALE ESHN=E M 207,000
O514 402300, 0000H 12,000
0104 50& 1,500, 0000H 75,000
02048 60&*2,000,0000H 120,000
OZHHSE SFHAS HIDE 1A
73+*4,690,0000H4 32,830
O=22 0tth MI& 4002 %150, 0000H 60,000
OS+1Z SHHSE(0IH) M= 83,090
03014 430 *73,0000H 31,390
O50¢ 470&%110,0000H 51,700
SEa713 0l BI2E 21
11&%183,0000H 2,013
307 2I2t01A 307,950 290,195 17,755
05 oIZtRE 3 307,950 290,195 17,755
=0 A 307,950 290,195 17,755
OZTHEES 9 SASRHIIS 2L
S S s3lg=s 107,950,000& 107,950
OugHIl=Z Meldl X2 200,000,000 200,000
MEHD|E st T2 2 4,388,044 4,496,790 A 108,746
207 AN 6,500 6,500 0
01 A3E9YH| 6,500 6,500 0
=0 A 6,500 6,500 0
OMEHI|IZ= =&, 26t A BOt
29 6,500,000 6,500
307 2IZ2t0|A 3,466, 120 3,549, 150 83,030
05 oIzt E =3 3,466, 120 3,549, 150 83,030
=0 A 3,466, 120 3,549, 150 83,030
OMEHIIE =&, 2L Y=
2,900,238,000& 2,900,238
OSAMEHIIZ =&, 28 gz
565,882,000 565,882
308 AXIEHMSOIH 915,424 941,140 NP5, 716
07 MXISHHZIREZ2 915,424 91,140 N25,716
=0 A 915,424 941,140 NP5, 716
OMEHIIZ2 IMSH(A2E) xS 515,424
OZHH=sE 16,800& *2,000E*12& 403,200
Oa30Is8HL)E 4y
8,400&*280&Ex 12& 28,224
OSAEHDIZ2 35,0003 *200E+12& 84,000
OmHDIZ HEFE2 400,000,000& 400,000
=SOHAE BHE J | 112,784 108,130 4,654
Al 56,392
- 56,392
101 @I24H| 112,784 108,130 4,654
Al 56,392




2N A&t
S FOIXE0| H0lg &
ol Mo SEM E= (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
- 56,392
M JIZHN22NSEs 112,784 108,130 4,654
Al 56,392
- 56,392
20/ & 112,784 108,130 4,654
Al 56,392
- 56,392
O=3ItetE D28 SHEJH| At 2124H|
112,784,000 112,784
Al 56,392
- 56,392
Mg 2els=H 2= 1,266,860 1,251,958 14,902
= 2,500
Al 62,050
- 1,202,310
e 2ci=H 22l 1,241,860 1,226,958 14,902
Al 50,800
- 1,191,060
201 Ler23d| 56,280 56,280
01 At22teltl 37,680 37,680
S04 & 37,680 37,680
oget=2H| 37,680
Oolgs s22 29 3,980
2E WABX 2 HA I
2003 *1,5000H 300
- 222 M 1,000& *1,2000H4 1,200
SADY 2AME 2Y
500&*1,200H 600
=2 29 ARE P2 800,000 800
-R01AH| 4 90,000 x12& 1,080
OolNgs 29 2l 9,300
-E2 &R M 1002 *40,0000H 4,000
-9 M 50,0002 *80H 4,000
EEEgE 7 4,000& *2007H 800
-HEE 3AaEF 72 10,0002 *50J1 500
OoMgg 2el=H &43t 11,000
“HEZ2S 2 HANK 2els=HE 2L
100,000 *25J1 2,500
“HIOIEAS =g 2
200,000 #2501 5,000
-0L0l AT =248 2 400,000 54 2,000
-HAS| Xeldl(3.3kg 2 25)
3,000 *5007H4 1,500
Ooto|A® Z2|=H -3t 5,000
-OL0| AT THEHE &Y &+ 22
200,000 *25J4 5,000




SM: HREE
HE: F0ITEo

S M2E 22ds=H 2= (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
OO0Lo| AT 2HetH HEES 7 8,400
-Ot20teg 2¢ 4,000 *1,6004 6,400
-0l0| AR B2E)| ¢
10,000 *507H4 500
—rEt 2wE)| 7Y
100,000 & *57H 2 500
~AHOIE S HET 7Y
500,000& #x2& A 1,000
02 2323l 6,600 6,600
S0 &t 6,600 6,600
02322 % HA 3,600
o2z JJ|, k=2
300,000 =123 3,600
OAIE&HIRXIYI 3,000
O=E22 S AERX B
3,000,000& *13] 3,000
03 A2 G| 12,000 12,000
20i & 12,000 12,000
OZ2¢ &3 Us&H 6,000,000& *23] 12,000
202 O4H| 1,000 1,000
01 =i B 1,000 1,000
20/ & 1,000 1,000
OZ2 bl 500,000& *23] 1,000
203 FRF=&H| 900 900
03 A EFRHLRFXIY| 900 00
20l & 900 900
oMgs 2l =& 150,000 *63| 900
206 M ZH| 59,000 57,800 1,200
Al 25,000
- 34,000
01 M=l 59,000 57,800 1,200
Al 25,000
- 34,000
20 & 59,000 57,800 1,200
Al 25,000
- 34,000
OMEEE =HE &+ ¢ 9,000
QHIIAE =8 Y 5,000 *6000H 3,000
OM&EZE = Otth 4002 %15,0000H 6,000
OMEEE =HEI| 7 20,000
OIS (HM, =4) 40002 +5,0000H 20,000
Al 10,000
- 10,000
oOMEEsZE Zll==AHe ¥ =HEI| 4Xl
500,000 *60H 30,000
Al 15,000




S KREE
M F0IxE9 &ZF0Is 78
el MEE 2oli) 2= (cr9l: &g
S - BB BR(31) - NSAY - BES S SR b=
| = 15,000
207 AW 20,000 20,000
01 HARE 4| 20,000 20,000
=0 A 20,000 20,000
onEESEHNY 42 B
20,000,000 20,000
301 et Z 61,500 61,500 0
Al 25,800
- 35,700
14 J|Et2 &3 61,500 61,500 0
Al 25,800
- 35,700
S0 & 61,500 61,500 0
Al 25,800
- 35,700
OO0l sZna HodAlz
50,000 283 1,400
Os2dIE =HHHAS 160,000& =102 1,600
Al 800
- 800
OF0|H WSAIEE &Rl 2L
500 60,0004 30,000
Al 15,000
- 15,000
OO0t0| AT NEAIEE X 2L
5002 %17,0000H 8,500
OHHEX =H A3
10,000& *2,0008F A 20,000
Al 10,000
- 10,000
307 QIZ2t0| ™ 1,043,180 1,049,478 26,298
05 It Er2 1,043,180 1,049,478 6,298
=0 A 1,043,180 1,049,478 26,298
oNMaszE =&, U Hd=
640,922,000 640,922
OMEEE &8 Utz 286,730,000 286,730
OHEZS, HAEX, HIIN )1 =z
115,528,000& 115,528
SEHHIY =HENS 25,000 25,000 0
= 2,500
Al 11,250
- 11,250
301 LetBEZ 25,000 25,000 0
= 2,500
Al 11,250
- 11,250
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o°Hel: WEE 2els=H 2= (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
14 JIEI2 &3 25,000 25,000 0
= 2,500
Al 11,250
- 11,250
S0 &t 25,000 25,000 0
= 2,500
Al 11,250
- 11,250
SEHHIY =HEAZ 25,000,000 25,000
= 2,500
Al 11,250
- 11,250
SA=SFRHIIZ Xl 4,112,073 4,055,649 56,424
SAMERHIIZE Ml & 2Es =& 4,112,073 4,055,649 56,424
201 LEt2AH| 87,495 78,924 8,571
01 AtR22teltl 5,160 5,160
20/ & 5,160 5,160
Ogst=2| 5,160
OTEH3 A =2 2,600
-SAI2MdD] 201D HRD 2 2L 1,300
=00 & 50,0002 x2E*83] 800
=22 M 1002 %5, 0000H 500
-SSTH 3= 2 88 1,300
=0 M 50,0002 x8E *23] 800
2= & 100& %5, 0000H 500
OSBASFHDIZ ZE0lIIE &2
=0 & 50,0002 6l *23] 600
O=HNE AEIH HE 100& *5,0000H 500
OSASFHDIIE S0tEDt |3 &
Hag 70,00021+824 560
OSAE +HEII(102) 72
90,0002 * 104 900
02 3523l 82,335 73,764 8,571
=0 & 82,335 73,764 8,571
OSAEMYD| SAl T2 RAE+
200,000 =123 2,400
OSASFHIIZ2 SZH J1J] RXNE=
15,0002 x364CH* 12& 65,520
OSAMEFHIIZ SEH J10| Sl
3,300& x364CH*12& 14,415
206 M=l 7,250 6,750 500
01 =4l 7,250 6,750 500
=0 A 7,250 6,750 500
OXel+=+5 UHRZES M 7,250
0514 2 35 29& *250,0000H 7,250
301 LetE8EZ 70,809 70,809 0
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M F0IxE9 &ZF0Is 78
&t SASFHIIZE XMel (ct9: &2
) _ oM e, hoH -
SH - B S9(3H) - NRAY - BES S cR HIDS2
14 JIEI2ALS 70,809 70,809
=04 70,809 70,809
OZEXH ZA2E HII2 Hel4sR
A= Ba= 1,133,770,000& *5% 56,689
OSBAESFHIIZ ZS<0IIE Al& 14,120
OSAlg 2HBII(1201)
90,0003 x24I 23| 4,320
OZHMSE(104) 310& *10,00001*23] 6,200
Ot M= 300,000 * 1224 3,600
307 QIZt0IA 3,896,519 3,849, 166 47,353
05 RIZIRIEIZ 3,896,519 3,849, 166 47,353
S0j &t 3,896,519 3,849, 166 47,353
OBAEFHIIZ Mel &=
82,1933 *20,208& 1,660,957
OSA=SFHII2 =&, 2 itz
2,182,762,000& 2,182,762
OSASFHIIZ RIZEMelAlE HMel O
SHZ(HIAFAl) 220,000& x20E+ 128 52,800
401 A& BIZL SCHYI 50,000 50,000
01 Al&HI 50,000 50,000
S0 & 50,000 50,000
O SA=FRHII= ARFID &XI
2,000, 000& *25CH 50,000
ANSEHDIIS2 CHEX 2te| 9,340 6,440 2,900
SUXHIIZE Xl 4,690 4,690 0
201 LEr23d| 4,690 4,690 0
01 AtR2teltl 4,690 4,690 0
S0/ & 4,690 4,690 0
oOget+=2H| 3,390
ORHEI| SXHIIZ Xel
150,000& *20& 3,000
QHYIZ2 8Z3AM ==&
130,000 & *33] 390
oYXtz 1,300
O=2% g HoI=2 ol ZHIXt
650,000 *23] 1,300
AIEE HOI2 22l 4,650 1,750 2,900
201 Ler23d| 2,600 600 2,000
01 AtS2teltl 2,600 600 2,000
S0/ & 2,600 600 2,000
ogst=2H| 2,600
OHO|IZSHHEAIEE XNSEHBE MA! Ol
2003 *50001 25 200
OHYIZ2 +=&2et xS ME
2,000 *2000H 400
OAMSEHOIZ2 HHESAt HH X MZ
5,000 *4000H 2,000
202 04| 700 700 0




2N A&t
Bu: Z0INSO| SH0|5 T
SRl AIRSEHDIZS HEE 22| (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
01 ZLHO4H] 700 700
=0 A 700 700
OZ204dl 700,000 700
203 SR F&| 450 450
03 Al FRIHRFAIY| 450 450
=0 Al 450 450
OAIEEHD IS 28 PRFX
450,000 450
301 Let8dZ 900 0 900
14 J|Et2 &3 900 0 00
=04t %00 0 90
OMEEHDIZ HELN WE ZAIZ
300,000& *33] 900
HNASM=TX K& 76,170 74,990 1,180
SZERE 22| 2FRE 76,170 74,990 1,180
201 82| 76,170 69,990 6,180
01 AtR2teltl 49,170 47,990 1,180
S0 & 49,170 47,990 1,180
OESRE 1= ¢ 37,350
O=R9 60,0002 *50H 3,000
O3 30,000& x50 1,500
OR2XHol2, sk2) 15,0002 x50 23| 1,500
Oor&=7| 18,0003 *50H 900
OXA=(SHI| &H9)) 40,0003 =50 2,000
OEg=(s=DI 6t2)
40,0003 *50H *23| 4,000
Oxei= (51| 42l) 40,0002 502 2,000
OZA=(ot&| o)
35,0002 x50 23| 3,500
Oot& st 50,000& x50 »23] 5,000
Ogst= 100,0002*50H *13] 5,000
Ogl= 30,000& x50 *13] 1,500
OYXIOFA A (N-95) 10,0002 x50 *33| 1,500
ODIMIS X DA (KF94, KF80)
10,0002 x50 *33| 1,500
ORX A=Y 10,000 x50 23] 1,000
Oetd 3 20,000& x50 1,000
Ot E0otA 19,0002 x50 950
OOot™ HChetx| &2 30,000& x50 1,500
OIERE 4, =4 AYE K=
50,0003 *50H *23| 5,000
OsdB LA 2 JE8 (1Y) 2,820
O#zo gil(&z2) 2,500,000 1 2,500
OZ A ME(HHS X L&
120,000 =274 240
O3S g5 20 2
80,0003 *1H 80




S KREE
M F0IxE9 &ZF0Is 78
ciel: REsM=R A crel &
SH - B S9(3H) - NRAY - BES S S =
OFZERE =Z Yl 22 22 4,000
OX2IE XA 20,000& x50 1,000
Ol 72 2,000,000 2,000
O+ 2¢ 5,0002 50 43| 1,000
02 323l 2,000 2,000
201 & 2,000 2,000
OBNXIEY S 2,000,0008 2,000
03 SHALS | 25,000 20,000 5,000
=04 25,000 20,000 5,000
OBABSN WX A8
800,000 *25H 20,000
OB SRE M HZEl 2,500,000 *23] 5,000
HY2IHZH|(KHA &= 3,731,261 3,671,473 59,788
ol 2| 3,664,461 3,596,653 67,808
ol 23| 3,664,461 3,596,653 67,808
101 l24d| 3,664,461 3,596,653 67,808
01 2= A, 275 R, 766 1,509
20 & A,275 R,766 1,509
OAlIZt2lg 83,538
OAIR4 A3
12,3213 *10H +3BA[ 2+x 12& 51,749
OFLXE 2HR
12,3213 x5F *43A| 2tx 128 31,789
OFLZ2L(FAXNEE 2TA)
89,4703 x2H 60! 10,737
03 SRA(RIIAY) 222+ 3,570, 186 3,503,887 66,299
S0 &t 3,570,186 3,503,887 66,299
OBES R (50Y) 3,570,186
oJl1ea 2,213,002 x50 =123 1,327,854
O = 817,928
|2 2,733,090 *50% *200% 273,309
-H2aY 2,693, 0903 50 *100% 134,655
=kl 2,733,090 *50% *300% 409,%4
(@FSELES 277,920
-4 55,920
- B X 40,0002 50« 123 24,000
SAIE 20,0003 =50 = 12& 12,000
SAINE(SMAHA)
60,0003 x21H12& 15,120
CRAIE(AMAIA)
100,000 »4H = 12& 4,800
SR 90,0003 *50H x 12& 54,000
~AAE A+ 90,000 x50« 12& 54,000
-SFEXH| 140,000 x50 = 123 84,000
-tHerarsy| 50,0003 x50« 12& 30,000
O&IZ=EoHa 35,0003 =50 * 12& 21,000
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B SENSHZY| (IR
cigl: olzt2aty| (cr9l: &g
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
O=cl= M| 264,966
~F o Z Al 160, 00021 +50* 122 9,000
Y EE M| 2,733, 00021 %502 +120% 163,966
S STt 100, 0002 %5024 5,000
SEDIEC PN
238, 06521 +50% x32 #1221 428,517
eENELPN
29,7583 *10A 2H50H * 123 178,548
OLXIRBEYSY
168, 71021 #5024+ 152 119,083
OBABD NAUHYE L MEEED
4,000, 000 *30%*3H 4 14,400
O3 s g3 120,000,000 *x1H 120,000
[2Zl 66,800 74,820 28,020
J|=2Z&| 66,800 74,820 A8,020
201 Ler23d| 26,660 27,000 A340
01 At22teltl 26,660 27,000 A340
20i & 26,660 27,000 A340
ogst=2H| 4,100
OJIZ2ANRES 7
5,000& *x16E +12& 960
O=AMEXN 7 20,0003 »434F Xt 860
OZdz=egly EY #¢
45,0003 *4 5 *43| 720
QRIEZR=ER 15,000& x3&5* 122 540
OUMEZR=Z(IIAHII4AL)
15,0003 25+ 12 360
OR0IBHIAIAE S X2 (I|AHH
Jla) 55,0002 123 660
O=&H| 22,560
OJ|2gRF8 24| 22,560
~ALRA AR 8,000 x11H 10« 12& 10,560
“HAXY 203
8,000& x5 x5 » 12& 12,000
202 O4H| 31,920 39,600 A7,680
01 =LHOH] 31,920 39,600 AT,680
201 & 31,920 39,600 A7,680
QI |I2YRFA HUEE0HHI
, 0002 x 16«8 » 122 30,720
O3F2 ZUSE 0|
100,0002x 1Y+ 12& 1,200
203 RF=&| 7,020 7,020
M EA2IHRFA 7,020 7,020
S0i & 7,020 7,020
©@30¢2! 0lat 400,000& *12& 4,800
O3092! =1t 5,000& *37E+12& 2,220
204 P AH| 1,200 1,200
01 PR AY| 1,200 1,200




2N A&t
HEl: BHSSAH|(NHBESD)
&l J12Z ciel &
% s FOH LS o O] AFOH
SH - B S9(3H) - NRAY - BES S S =
S0 & 1,200 1,200
OE

a 100,000 x 128 1,200




